XK#a—F— | SL-LB0ORTCB (BHERMHFA K— K14KEEY) s e 5= 1:2
: = mm

2 :2024.11.29

#Hi5E 1 2024. 09. 20

AHE AHE
X

\
+250mm
—250mm

P
~+250mm
—250mm
100 2T TH#Y ) 75 2 X W=500 X

St C-60x30x1. 6t #E T #1500
(LGSXH# THTE)

BEZ 38 (LESKHA T T l j
B (LESEH T T

AR—H—
GLETH)

MF%5 X E R (M4 x50)

St C-60x30x1. 6t
(RlETE)

e
|t
S

Z | —250mm

20

ﬂ ~+250mm

ERV250

AL
Pimsis
i

38
111.8
5.3
N

19
I
|
|
|
]
40
§
f
L
40

AXRFEEFE

\EEMtYY Tih

(Bli&T %)

FTRATFHRER MAx16)

FARFHRER MAx16)

BT 4 R EZ (06, M4x16), ER#BX
d bllc
17.5 215 215 17.5
250 i 250

V CERICHE>TOEES! b c d 4
. g R g 12.5]12.5]1.5] 9

ARV —X(IHEH B D=, . -
FHRBEISE Y 1-bd - h UL OB E ET A, R—FEIZ&% [12.5(9.5[1.5| 6
AEMHEEICIBEFE S ENEE A a 9.5[12.5]/1.5] 6
12.5 9.519.5|1.5] 3
9.5 12.5] 0 5 0

MAR—G—F




2R BT A 7 v Hh—EEMRE

RIa—F— SL-L500RTCB (F#g3%(+T4T R— F2#2B5Y) & 0= 560 mm $=1:2

2 :2024.11.29

#Hi5E 1 2024. 09. 20

REE AIHE

X
g
+250mm
—250mm

St C-60x30x1.6t #E T #1500
(LGSXR#THITH)

P
~+250mm
—250mm
100 2T TH#Y ) 75 2 X W=500 X

ST +250mm
i ol || s |= | Zz50m
L L
[ iy i WS MF% 2 £ (14 x50)
w ERV250 EETH St 0-60x30x 1. 6t
= — (BT E)
- /
< (=]
= <t
AR LT o -
\FHRE \ EEMLY Y T
FTATFHIRER M4 x16) (EI%EI$)

BT 4 X E 2 D6 M x 16) FTATHRAER M4x16)

17.5 215
250 i 250

| CEAICHZ>TOEER ! A—REIZL 3 c d e

ARY U —RIFBIERR D1, a b 12.5]12.5] 1.5

BAREISE Y b - R CNEOBAHEETA, 12.5]12.5 12.519.5(1.5

AEMHEEICIBEFE S ENEE A 12.51 9.5 9.5112.5| 1.5
9.5 [12.5 9.5]19.5]1.5
9.519.5 12.5] 0 5

HAR—H—E




- — e . EA : BlE T L v h—EERRE :
X3ta—+— | SL-LS00RTCB (BHEZHEFT K— KIKEEY) AR TR 5= 12

2 :2024.11.29

#Hi5E 1 2024. 09. 20

AHE AHE
X

\
+250mm
—250mm

P
~+250mm
—250mm
100 2T TH#Y ) 75 2 X W=500 X

St C-60x30x1. 6t

(LGSXH# THTE) 5 T #1500
N H— (LGS #hT l

Tz =438 (LGS TH#hT 7

ARt —
GIELIH

MF%5 X E R (M4 x50)

Z | —250mm

ﬂ ~+250mm

i
i -

P N
Pimsis
i

. ERV250 £ St 6-60x30 1. 6t
o i - % BIETH)
el ha - 0 /
= e | M N
Y _ _ _ /
ARAEEFE
37 de \ 228
LGSKFTHIFE) FARFHREZ WAX16) REHAER LEMLYY Tib
i 169 ESES)
HIT 5 X EZ (D6, M4 16) ERIEA
d bllc
17.5, 215 215 17.5
250 i 250
| CEAICHZ>TOEER ! b c d X
AR U — EHIERAD =5, e emi-yp H25112.511.51 9
FHRBEISE Y 1-bd - h UL OB E ET A, R—FEIZ&% [12.5(9.5[1.5| 6
AEMHEEICIBEFE S ENEE A a 9.5[12.5]/1.5] 6
12.5 9.519.5|1.5] 3
9.5 12.5] 0 5 0

MAR—G—F




2R BT A

7 oh—EEMRE :

X#a—+— | SL-LS00RTCB (B (TEAT R— F2AKEEY) = o< =12
BEE EEES
X
\
+250mm
—250mm
P
+250mm
—250mm
100 2T Y7 TR =500
St C-60x30x1.6t
(CSKHTFHLHE)
T T ‘ RR—Af— +250m
B2 (438 (LOSKH# T T ) i il il FI2TH) 250
— ( i M5 R ER (M4 x50)
= . ERV250 St C-60x30x 1. 6t
= GHETH)
2 ] n i
A g g
- L FE R
(GSKFATHIE) < <
s . = \EEMHY Y Fib
FAFHREZ (WAx16) FATaAER Gl&TE)
#IF 5 X EZ 06, M4x16),
c
2 215 17.5
z 250 |
Eé |V CERICHE>TOEESR! c e 4
ARY U —RIFBIERR D1, 12.5 .51 9
g PHBEIZE Y -bd - b LLEOBHITEET A, 12.5 1.5] 6
3 AEMHEEICIBEFE S ENEE A 9.5 1.5] 6
g 9.5 15[ 3
& 12.5 510
® XZ’\Q—'H'_E




	シートとビュー
	66616-l500rtcb-平行1
	66616-l500rtcb-平行2
	66616-l500rtcb-直行1
	66616-l500rtcb-直行2


